Oo0pa3oBaTebHbINE MUHUMYM

YetBepTh 3
[IpeameTt Xumus
Knacc 8
Ne TepMMH, NnOHATUE OnpeaeneHue
1 CsoiicTBa KUCNOT 1. Kwucnota + ocHoBaHMe = conb + BOAa
2. Kucnorta + okecmg meTtanna = conb +BoAa
3. Kwucnota + meTtann = conb +80J0pOA
4. KucnoTta + conb = HoBaA KMcAoTa + HOBasA
conb
2 CBoiACcTBa OCHOBaHMUI 1.0cHOBaHUe+KUCNOTa=Cconb +Boaa
2lllenoyb+oKcnag HemeTanna = conb + BOA4a
3.Uleno4yb+conb=HOBOE OCHOBaHME +HOBAA CONb.
3 CBoiicTBa OKCMA0B -OCHOBHbIX:
1.0Kcnp+kmcnota=conb+Boaa
2.0KCMA+KUCIOTHBIN OKCKA, = COJIb
30Kcua+Boaa=LLesioub.
-KnucnotHbix:
1.0Kcnp+ocHoBaHMe=conb+BOA4a
2.0KCMA+OCHOBHbIN OKCUA, = CO/b
3.0Kcna+Boga=KncaoTa.
4 | CBoucTBa coneit 1)Conb + KMcNoOTa = [lpyraa cosb +A4pyras KMCA0Ta

2.conb+uenodb=apyraa conb +4pyroe oCHoBaHue
3.conbl+conb2=conb3+conbda.




